TotalMarks:.... Class:10th Time:....

Test:Math
Attempt ......... questions
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6 Simplify. sin’x . cot X sin'x . cotx -/ S
7 Convert 2530 to decimal degree _J)U’,u: Jdﬁy)lﬁil/ 15°30/
8 A tree casts a 40 meter shddow when the angle _o_ ;y«ﬁ,} b(u,yﬁ;_/40”{,&_,pﬂ_fl
ofelevation ofthesunis 2.5". Find the height -éf»‘b”dLﬂ'JJﬂ
of'the tree.
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2 The base of a rectangle is 25 feet andthedicight [_J’H/ 13645 1 23255 45 (J"éw“_fl

of the rectangle is 13 feet. Find theangle that (., 2.~ " ;i a.f/asié(zb’:f‘,ubb/n
the diagonal of the rectangle malkes with the =*

base.
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